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The question numbers in this resource reflect the question numbers from the original papers and 
match the question numbers in the corresponding 2021 assessment materials. 
 

Question 01 

 
Student A 
 

 
 
Commentary  
This is a question where the marks break down easily, with 1 mark available for each of the three 
types of knowledge that are defined, so long as each one is explained clearly. In this case, only the 
first type of knowledge (ability) is explained clearly. The illustration is unnecessary but it does not 
compromise the answer in any way. 
 
1 mark  
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Student B 

 
 
Commentary  
This student has clearly explained all three types of knowledge, and so they can safely be awarded 
maximum marks. Again, the illustrations are not necessary, but they only serve to emphasise the 
student’s understanding, and they certainly should not be penalised for redundancy. 
 
3 marks 
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Student C 

 
 
Commentary  
This student has clearly explained two of the three types of knowledge (acquittance and ability), 
but there is imprecision on propositional knowledge. ‘Knowledge about’, even with the example, 
does not quite do enough to distinguish it from acquittance knowledge in the way that ‘knowing 
that’ would. 
 
2 marks 
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Question 03 

 
Student A 
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Commentary  
This is a clear, correct and sufficiently full answer for maximum marks. Plato is, of course, 
associated with the development of the justified true belief (JTB) account of knowledge, but the 
student here draws from Plato’s distinction between belief and knowledge to answer the question 
effectively. This is then supplemented by a Radford-style example at the end. 
5 marks      
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Student B 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Commentary  
Initially clear and correct, with use of relevant examples, but the point of the second example loses 
focus by the end. The response is correct in substance, but lacking precision. 
 
3 marks  
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Student C 
 

 

 
 
Commentary  
Two relevant points are made, placing the question within the context of the disputed JTB theory, 
and giving an example of knowledge without belief, although the latter is not well developed.   
 
2 marks 
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Question 05 

 
Student A 
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Commentary  
This student argues with intent, and the logic of the argument is sustained. There is detailed 
evaluation throughout, with some examples of robust defence; the balance of arguments clearly 
supports the conclusion, and the rationale for identifying some arguments as ‘stronger’ or ‘weaker’ 
is likewise clear. Relevant philosophical language is used correctly. There are obviously other 
possible replies the student could have made (ie on behalf of Plato, Leibniz and Descartes), and 
the discussion of Descartes was less consistently focused on propositional knowledge than the 
rest. The quality of written communication was not always precise but it is a solid top-band answer, 
and responses do not have to be perfect to be awarded full marks. 
 
The student begins with a clear statement of intent: they will be offering a defence of a Humean 
and Lockean empiricism against the notion of innate knowledge. There is also an indication of what 
the ‘crucial’ argument is: they will be drawing on ‘Hume’s folk’.  
 
The student opens the main body of their discussion with a clear and correct definition of innate 
knowledge (blurring with innate ideas/concepts was a pervasive feature of students’ responses to 
this question). This student introduces innatism via Plato, outlining the paradox of knowledge to 
show the apparent plausibility of the innatist option. This is an example of positive evaluation, 
something that few students offer when dealing with arguments they don’t support. 
 
The student then sets out Plato’s ‘slave boy argument’. Once experience is eliminated as an 
explanation for the slave boy’s apparent knowledge, then the theory of recollection is introduced. 
This is a clear and correct discussion. The objections raised concerning the plausibility of the forms 
and the immortality of the soul are not especially detailed, but they are all reasonable philosophical 
doubts one might raise. Socrates’s method is critiqued (as a form of teaching through experience), 
and an important distinction is made between innate intellectual abilities and innate knowledge. In 
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passing to Leibniz, the student not only states that this is a ‘stronger’ argument but gives some 
reasons why: it acknowledges the need for some experience, and it is not as metaphysically 
elaborate as Plato. There are obvious affinities between Leibniz and Plato that this student 
overlooks, but they clearly want to bring out the differences. The objections that the student raises 
are broadly Lockean, especially the criticism of any notion that we could possess knowledge that 
we were not (and had never been) conscious of.  
 
The student uses ‘Hume’s folk’ to offer a different account of the status of knowledge claims which 
is presented as undermining the innatist position. The student could have offered replies from a 
Leibnizian perspective here, but clearly they think they have done enough to refute this argument. 
The final argument that the student considers is the connection between innate ideas and 
knowledge. There is the potential here to get lost in a tangential discussion about innate ideas, but 
the student does a really good job of keeping the focus on innate knowledge. There was room for 
even more integration (eg explicitly connecting the idea of God to propositional knowledge) but 
evaluation is still precise and integrated, being directed at specific (relevant) premises.  
 
The conclusion restates the hierarchy in the relative strength of arguments for innate knowledge, 
and summarises why none of them succeed.  
 
25 marks  
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Student B 
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Commentary  
This student argues with sustained intent, with detailed knowledge and understanding of relevant 
arguments which support the conclusion. Relevant philosophical language is used correctly, and 
there is integrated argument and counter argument. However, the argument is certainly not 
robustly defended with consistently precise and detailed knowledge and understanding, and falls 
short of the top band. 
 
The essay begins by locating knowledge innatism within the broader philosophical position of 
rationalism, which is contrasted with empiricism and the ‘blank slate’. The student clearly explains 
what they see as a stake in the debate, with good analysis and evaluation, and clearly indicate 
their intention to defend Leibnizian innatism. 
 
The first argument considered is Plato’s ‘slave boy’ argument, which is outlined and critiqued. 
Neither the argument nor the objection is especially precise and detailed, but there is clearly credit 
worthy knowledge, understanding and evaluation here. The student also considers a Platonist 
reply concerning universal concepts not derived from experience (eg a circle), but the subsequent 
evaluation misunderstands Plato. It is not the case that we have these pristine universal concepts 
of justice and beauty; rather, that there are metaphysical ideas/forms which exist independently of 
human minds, and from which we derive our imperfect concepts, recognising them in particular 
cases, but never reaching a secure general definition. This misrepresentation of Plato’s arguments 
reoccurs elsewhere in the weighing of Plato against Leibniz.        
 
Leibniz’s argument from necessary truths of reason is introduced, and its merits are noted in the 
evaluative remarks. Locke’s argument from universal agreement is well stated. The student does 
not target this at knowledge until the end of the argument (focussing instead on ideas) but it was 
rare for even the best students to maintain laser-like focus on knowledge, and they did at least 
bring it back in the end. 
 
The student responds on behalf of Leibniz, defending innate knowledge in children who are not 
aware of their knowledge (eg the ‘law of non-contradiction’). The counter, Locke’s argument 
against unconscious knowledge, and the so called ‘transparency’ thesis, is never really responded 
to: the words of a song were surely present to the mind once. Still, it does further the argument in 
favour of the possibility of unconscious knowledge which Locke is said to deny.  
 
The logic of the argument is mostly sustained, and a range of arguments have been offered, 
summarised in the conclusion.  
 
19 marks  
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Student C 
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Commentary  
This is a clear answer in the form of an argument. There is intent, and relevant material is used to 
support the conclusion. There is a lack of integration in some of the evaluation, however, and 
arguments are not stated in their strongest form with the most relevant (and correctly used) 
philosophical language. 
 
The student locates the question within the rationalist vs empiricist debate, and indicates their 
intent to argue for innatism. From the very outset, however, there is blurring between knowledge 
and ideas/concepts. 
 
The first argument discussed is Plato’s theory of forms, which is not explained in detail or with 
precision, but contains some relevant knowledge and understanding. The empiricist criticism 
concerning the ‘transparency of the mind’ is applied reasonably enough. The initial rebuttal is 
stipulative and not well illustrated, but the slave boy argument is better suited to refuting the 
transparency of the mind argument, and this is a credit worthy response, although the evaluation 
blurs knowledge and concepts again. No response is offered to the slave boy argument.  
   
The discussion now shifts to the ‘blank slate’ theory of Lockean empiricism, although the student 
gets the logical relationship between ideas/concepts and knowledge the wrong way round: the 
standard argument is that without innate concepts/ideas there can be no inmate knowledge. The 
claim that this argument relies on Ockham’s razor does not engage Locke on his own (and 
strongest terms); moreover, Ockham’s razor is not a ‘theory’ but one valuable principle among 
others when we formulate our theories. The response to this argument (about the ‘complexity’ of 
the origins of ideas) is question begging, and the focus is again on ideas/concepts rather than 
knowledge. The evaluation improves when the discussion shifts to how we are able to classify 
experiences, and differentiate them, although what seems to be a rendition of Condillac’s statue 
analogy could have been explained with greater precision.      
 
The penultimate paragraph raises brief ‘weak’ empiricist criticisms: the first (on distinguishing 
innate ideas from other ideas) is responded to using relevant concepts, but it is not a well-
developed response; the second (the argument from universal agreement) is responded to by way 
of a counter example (the law of non-contradiction). No rejoinders are considered, and the essay 
concludes that they have shown ‘empiricism is false’.   
 
12 marks 
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Student D
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Commentary  
The student answers in the form of an argument. Some of the material is relevant and correct, but 
there are significant gaps in what would be the most relevant content from the specification, with 
arguments and counter arguments misrepresented. 
 
The student begins by conflating innate knowledge with a priori knowledge, before indicating they 
will be answering the question in the negative. The first argument (Plato’s ‘slave boy’ argument) is 
outlined clearly enough (the precise details of the story do not matter as much as the underlying 
logic), and briefly countered, but the latter lacks development. 
 
Leibniz is correctly identified with rationalism and innatism, but the latter is illustrated with a 
physical function/ability rather than propositional knowledge. Locke’s ‘blank slate’ is introduced, 
appropriately enough, but the evaluation makes little sense. 
 
Descartes can be discussed within the context of this debate, but the student fails to make the 
necessarily connections between the cogito and innate knowledge. Hume’s folk, also relevant, is 
introduced, but the student does not show clear understanding of the distinction Hume is making. 
The student then tries to apply Ayer’s (related) verification principle to the question, but again, they 
do not understand the relevant conceptual distinctions, and so the points raised do not help them 
to answer the question effectively. 
 
The conclusion is clear and reasonable enough, but it is not well supported by the previous 
arguments, and once again blurs innate with a priori. 
 
6 marks     
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